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Answer Question No. 1 which is compulsory

and any five from the rest.

The figures in the right-hand margin

indicate marks.

1. Answer the following questions : 2x10

(a) Which fields of the IP header changes
from router to router ?

(b) Whatis the role of Gateway in Internet ?
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(c)

(d)

. (e)

(f)
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What is the basis of classification for four
types of links defined by OSPF 7

If TELNET is using the character mode, how
many characters are sent back and forth
between the client and server to copy a file
name file1 to another file named file2 in
LINUX?

Why there is a upper limit set for modem ?

How a virtual circuit is identified in Frame

relay network ?

Describe why an application developer
might choose to use UDP instead of TCP
as the transport layer protocol 7

What are the main services provided by
the Domain Name System (DNS) ?

What is meant by loose hierarchical
routing in Internet ?
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Can there be more than one network
adaptors that have the same |P address ?
Explain why.

When would you use an iterative vs.
recursive domain name server (DNS) ?
5

Consider sending an object of size 100 KB
from server to client over TCP. Let segment
size (MSS) =536 bytes and RTT = 100msec.
Suppose TCP use static windows with
window size W. (static window means this
window size will not be affected by flow
control and congestion control.) For a
transmission rate of 28 Kbps, determine
the minimum possible latency (delay).
Determine the minimum window size that

achieves this latency. 5

Define and differentiate between packet

switching and eircuit switching ? 5
3 PTO.










